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It is mandatory to answer all the questions.
> T A T g T 40 7

The total number of questions is 40.
> TAF T % g 1 s RatfRa g

Each question carries 1 mark.

> 98 T F forg 9 et lRg 1w € 1 579 & & 9 Ao &1 =3 fifvm )

Each question is provided with 4 options. Choose the correct option.

> TEd I F T T o TG FHIE AT

There will be no negative marking for any wrong answer.

1. Gf=ra At & 7.63245 x 0.56439 FT 3 ATHF 31 q LF AT T :

The value of 7.63245 x 0.56439 by contracted method correct to 3 significant figures will be :

(a) 4.360
(b) 4.31

(c) 4.306
(d) 0.431

2. ¥ X 100 = 6 9T, X 10 = 1.25 (A, AT 300 9I<.......... ECRACES-F
If 100 = £6, ¥ 10 = $1.25, then £300 is equal to:

(a) $625

(b) $62.5

(c) $0.625

(d) $640

3. 99.082 FT HTH &I THAT TITH & HHe g :
The value of 99.082 correct to two places of decimal is :

(a) 99.082
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(b) 99.12
(c) 99.08
(d) 0.99

4. T TF T T T X 2.75 7, AT 210 TG T 7 &

If the price of one article is ¥ 2.75 then the price of 210 articles is:
(@) X 60.5

(b) X 6.05

(c) X 577.50

(d) X 550

5. 4936.0865 FT FATH AT |4 o Ai=he AawTiory:
Find the value of 4936.0865 correct to hundredth:
(a) 4936.09

(b) 4936

(c) 4936.08

(d) 49 x102

6. Tf< 10 SITRAT T M9 X 27.5 8 AT 1,100 {THAT T ITH T :

If the price of 10 toffees is X 27.5, then the price of 1,100 toffees is:

(a) 33,025
(b) ¥ 2,750
(c) T 302.50
(d) ¥ 30,250

7. 65.30924 T FTHAS % &l TATHI T & 9
Write 65.30924 correct to 2 places of decimal:

(a) 65.30

(b) 65.309

(c) 65.31

(d) 65.3092
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8.389.236 x 0.050678 FT HTH &J ZIT:

The standard form of 389.236 x 0.050678 will be :
(a) 3892.36 x 0.50678

(b) 3.89236 x 5.0678

(c) 3.89236 x .00050678

(d) 38923.6 x 5.0678

9. Tfx 42 T 28 T & TLTAL &I 3T 70 §H 30 =TET o ALAL g df 70 T Fovd=r =TT & I1&< gir?

42 cows are equal to 28 buffaloes and 70 buffaloes are equal to 30 horses, then how many horses are equal
to 70 cows?

(@) 20
(b) 10
(c) 30
(d) 40

10. wipt=ra fafer & 109 x 109 FT AT e & Tlwrhe g :

The value of 109 x 109 correct to hundred by contracted method will be :
(a) 118.8

(b) 118 x 102

(c) 119 x 102

(d) 12 x 103

11. T2 1 TIAL = 5.04 e, 12.6 5 = 1 91 (£), X 100 = 5.8 TI< (£) AT 1,000 = FITATH o (oI Foha=r SieT
FIRT?

If 1 dollar = 5.04 francs, 12.6 francs = £1, X100 = £5.8 then how many dollars will be required to pay off
1000?

(a) $145
(b) $14.5
(c) $252
(d) $135

12. wigpt=ra (e & (1205)2 &1 719 AT * ieehe g

The value of (1205)2 by contracted method correct to lakh will be:
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(@ 1x10°
(b) 15 x 105
(c) 1.5 x 105
(d) 14.6 x 104

13. Referfera srardt & & #19-97 3a97 &1 & foraar f 4:5.
Which one of the following ratios is the same as 4:5:

(a) 10:15

(b) 12:15

(c) 15:12

(d) 15:20

14. T=AT T HET € (The currency of Italy is) :
(a) I (Yen)

(b) ®ATTA (Florine)

(c) 9T (Pound)

(d) == (Lira)

15. 112 [T 792 T =IATH AT :

The minimum ratio of 112 and 792 is:
(a) 28: 198

(b) 14:99

(c) 1:7

(d) 2:14

16. G * T T § a7 U [Sear 9 « 4 3 Fq9Ta | 2| 24 Fherrums atar # frear & foem s 6t
AFITHAT &

An alloy is to contain copper and zinc in the ratio 9:4. The zinc required to melt with 24 kg of copper is:
(a) 10% T (kg)

(b) 10% T (kg)

(c) 9% =T (kg)
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(d) 9 Foh=T (kg)

17. wigpt=a fafer & 463258 x 12345 FT HIA 0 AT o Hw[he R :

Find the value of 463268 x 12345 by contracted method correct to million:

(a) 51719 x 106
(b) 5719 x 107
(c) 5719 x 105
(d) 5719 x104

18. W& a3 # 120 BTAT H 40 e gU| TTH 31T HeA HT AT &
In a class of 120 students 40 failed. The ratio of pass and fail is:
@2:1

(b) 3:3

(c) 1:2

(d)3:2

19. =TT srqaTal ® | FIF-97 SIITd 3:2 % a1 §?
Which of the following ratio is equal to the ratio of 3:2?
(a) 133 : 122

(b) 169 : 113

(c) 112 : 168

(d) 168 : 112

20. TS AFT 15% = BHT 20% BT, AT A: B = ?
If 15% of A = 20% of B, then A: B =7

(@) 3:4

(b) 4:3

(c) 17:16

(d) 16:17

21. 44889.5 FT I T 3T I =T<H hIToTU;

Express 44889.5 correct to 3 significant figures :
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() 44800
(b) 449

(c) 44900
(d) 45 (10)2

22. 7% 1 RAtes U9 T 99 X 2.50 31 AT 110 U1 T 7 &

If the price of 1 Reynold pen is X 2.50, then the price of 110 pens will be :
(@) X 250

(b)X 275

()X 275

(d)X 2,750

23. fREferfa & & 999 Srer JquTd HiF-A18?
Which one of the following is the smallest ratio?
(@) 3:4

(b) 5:6

(c)7:8

(d)17:15

24. 7T 100 FEGAT T o7 X 1,060.80 &, TT 101 TEIAT HT T ZIIT:

If the price of 100 articles is ¥ 1,060.80 then the price of 101 articles will be:
(a) ¥ 10,608

(b) ¥ 1,071.41

(c) X 10,714.48

(d) X 10,71,408

25. 773 X 100 T¥ FHTLF X2.125 BT, T X 10,000 FT FHHTT ZHIT:

If commission on X 100 is X 2.125, then commission on X 10,000 is:
(a) X 212.50

(b) X 21.25

(c)X2125.0

(d) T 21250.0
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26. TT= Teh a6 T GoF X 1.0552 ¢, T 110 TEAT T 77 I-T9 § R
If the price of one article is X 1.0552, then price of 110 articles is:

(a) X11.607

(b) X116.07

(c) 1,160.7

(d) *11,607.00

27.%22.50 T I TSI il 3€ F 145 TS99 I T JoF T :
The price of 145 dozen pencils @ R 22.50 paise will be :

(a) T 326.50

(b) X 3,262.5

(c) 32,625

(d) ¥ 32.65

28. X12.5 YT &1e¥ it T | 125 (T 4 T Yo d g0 :
The price of 125 litre of milk @ 12.5 for litre is :

(a)  1562.50

(b) X625

(c) X 1,562

(d) ¥ 6,250

29. FATTF ATICTRT T TZTIAT F 875 Ve YTl T o TATST, T UF A1 U2 FT oA X 4.75 31 :

With the help of a table of Nine Values, find the price of 875 litre of petrol, if one litre of petrol costs X 4.75:
(a) X 875

(b) T 415

(c) T 4,156.25

(d) T 415.625

30. AfFFm FraHaT e 1 39 =%2.70 81 T 1 I = 10 I (& AT &I, AT 2.70 = ?
Par rate of exchange is 1 Yen =% 2.70. If 1 Yen = 10 grain silver, thenX 2.70 =?

(a) 27 I =TT (27 grain silver)
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(b) 10 I =T=T (10 grain silver)
(c) 0.27 U= =TT (0.27 grain silver)
(d) ﬁ'ﬁ@faﬁ‘%?@ (None of these)

31. 10 UT A< T GoF X 45 & AT 10 TS GTeeeAl T T NI :

If the price of 10 pencils is 45 then the price of 10 dozen pencils will be :
(a) X450

(b) 540

(c) 4,500

(d) X 504

32. 7T 15 TI@ = X 700 g AT Fohasl 93 39 ST F ITa¥ g ?

If 15 dollars = X 700, then how many rupees are equal to 39 dollars?
(a) ¥ 1819.99

(b) T 1518.99

(c) X 1820.0

(d) X900

33. STHAT T HaT &

(The currency of Germany is):
(a) =T (Dollar)

(b) &= (£)

(c) % (Franc)

(d) /T (Mark)

34. TS AT H F997 T ATF X 3,000 T 10 ITH g1 AT AT | FF97 T T SE IATH o F9T g1
=TT U afs AfRHT 2T 1 97 = X 60 3T 1 3019 = 4.8 ITH:

If the Kolkata price of gold is X 3,000 per 10 gram, what should be the minimum price of gold in New York
in Dollar per oz when exchange rate is $1 =X 60 and 1 oz. = 4.8 gram:

(a) $24
(b) $240

(c) $2400
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(d) $2.4

35. 89.6705 FT TATY A GlT¥d & Hlelehe (HanTioT:
Find the value of 89.6705 correct to thousandth:

(a) 89

(b) 89.6705

(c) 89.670

(d) 89.671

36. Tfs ToTeT AMAT T £1=%26.90 BT AT 867 =7

If direct exchange rate is £ 1 =X 26.90, then X 867="
(a) £ 23.32
(b) £322.3
(c) £3.223
(d) £32.23

37. 693.607 FT AT TUITE & TT=Iehe qF qaqTsU

Find out the value of 693.607 correct to the nearest integer :
(a) 693.607

(b) 0.607

(c) 694

(d) 693

38. [ HEATT 3:5 ST H | T T F&AT &l 10 T F&T (3T SATaT ¢ AT AT 5:7 g7 I1aT gl He&ATy &

Two numbers are in the ratio 3:5. If each number is increased by 10, the ratio becomes 5:7. The numbers
are:-

(@35
(b) 7,9
(c) 13,22
(d) 15,25
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39. T2 6 ATH 4 HE & TEL 8 3T 6 T, 12 =< o F<1a< g dl 30 ATH Fohe = qva¥ & TLa¥ 872

If 6 mangoes = 4 apples, 6 apples = 12 oranges, then 30 mangoes = ......... oranges?
(@) 40
(b) 30
(c) 20
(d) 50

40. 863494.2456 FT TATH HIF 5 AT ikl qah g

The value of 863494.2456 correct to 5 significant figures will be :
(a) 86349 x 10 or 863490

(b) 8.63494

(c) 863494

(d) 86349
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